CCM8 – Quarter 1 - Week 9
	

	Problem 1
	Problem 2
	Gridded Response

	




Monday







	Evaluate
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	Which point best represents 
?
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	Tuesday
	Order the values below from greatest to least. 

      
        
  4      
         
       

3.9


	Charlotte is trying to determine how much icing she will need to put on the border of a birthday cake she is making.  What is the perimeter of her square cake pan with an area of 81 square inches?


	Problem 2
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	Wednesday

	Evaluate

[image: ]


	Order from least to greatest.

3.3 x 105
6.7 x 103
7.2 x 102
7.2 x 103 
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Thursday







	The Earth’s crust contains about 130 trillion metric tons of gold (1.3 x 1014). One metric ton of gold is worth about $8 million. What is the approximate value of the gold in Earth’s crust? 


	Simplify





	Problem 2 
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	Friday

	[bookmark: _GoBack]A triangle has one side that measures  Estimate this value to the nearest hundredth. 


	Classify as rational or irrational. 

  

0.1 
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	Problem 1
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Quarter 1 Benchmark Review: Station 8

Four points are plotted on the number line.

A B C D

€<—+——t+ot+eototo—>
4 5 6 7 8 910

Which point represents the 76 ?
A. point A

B. point B

C. point C
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